Sample TCP Client

#i ncl ude <stdio. h>

#i ncl ude <stdlib. h>

#i ncl ude <ctype. h>

#i ncl ude <sys/tinme. h>
#i ncl ude <uni std. h>

#i nclude <fcntl. h>

#i ncl ude <sys/types. h>
#i ncl ude <sys/stat. h>
#i ncl ude <sys/socket. h>
#i ncl ude <netinet/in.h>
#i ncl ude <arpal/inet.h>
#i ncl ude <sys/types. h>

#defi ne SERV_ADDR “192.168.0. 2"
#defi ne SERV_PORT 7777
{
struct sockaddr _in serv_sock addr;
int socket fd;

bzero((char *) &serv_sock _addr, sizeof(serv_sock addr));

serv_sock _addr.sin_famly = AF_I NET;

serv_sock _addr.sin_addr.s_addr = inet_addr(SERV_ADDR);
serv_sock_addr.sin_port = htons(SERV_PORT);

if ((socket fd = socket ( AF_I NET, SOCK STREAM 0)) < 0)

exit(1);

i f (connect(socket fd, (struct sockaddr *) &serv_sock_ addr,

si zeof (serv_sock _addr)) < 0) exit(1);

read(socket _fd, ...);
process(..);
write(socket fd,.);
cl ose(socket _fd);



Sample TCP Server
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ncl ude <stdio. h>

ncl ude <stdlib. h>

ncl ude <ctype. h>

ncl ude <sys/tine. h>
ncl ude <uni std. h>

ncl ude <fcntl. h>

ncl ude <sys/types. h>
ncl ude <sys/stat.h>
ncl ude <sys/socket. h>
ncl ude <netinet/in.h>
ncl ude <arpalinet. h>
ncl ude <sys/types. h>

#defi ne SERV_ADDR “192. 168. 0. 2"

#defi ne SERV_PORT 7777

{
struct sockaddr_in serv_sock _addr, client_sock addr
int cli_addrlen, socket fd, socket fd2;

if ((socket fd = socket (AF_I NET, SOCK STREAM 0)) < 0)
exit(1);

bzero((char *) &serv_sock_addr, sizeof(serv_sock_addr));
serv_sock_addr.sin_famly = AF_| NET;
serv_sock_addr.sin_addr.s_addr = htonl (| NADDR_ANY) ;
serv_sock_addr.sin_port = htons((short)port_nunber);

if (bind(socket_fd, (struct sockaddr *) &serv_sock_addr,
si zeof (serv_sock _addr)) < 0) exit(1);

listen(socket_fd, 5);
cli _addrlen = sizeof (client_sock _addr);
while (1)

{

socket _fd2 = accept(socket _fd, (struct sockaddr *)

&client _sock addr, &cli_addrlen);

if (socket_fd2 < 0) exit(1);
read(socket _fd2, ..);
process(..);

write(socket _fd2 .);

cl ose(socket fd2);

}

cl ose(socket fd);



Sample UDP Client/Server

#i ncl ude <stdio. h>

#i ncl ude <stdlib. h>

#i ncl ude <ctype. h>

#i ncl ude <sys/tinme. h>
#i ncl ude <uni std. h>

#i nclude <fcntl. h>

#i ncl ude <sys/types. h>
#i ncl ude <sys/stat. h>
#i ncl ude <sys/socket. h>
#i ncl ude <netinet/in.h>
#i ncl ude <arpal/inet.h>
#i ncl ude <sys/types. h>

#defi ne SERV_ADDR “192.168.0. 2"
#defi ne SERV_PORT 7777
{
struct sockaddr _in conn_addr;
int socket fd;

if ((socket fd = socket( AF_INET, SOCK DGRAM 0)) < 0)
exit(1);

bzero((char *)&conn_addr, sizeof(struct sockaddr _in));
conn_addr.sin_famly = AF_I NET,

conn_addr. sin_addr.s_addr = htonl (I NADDR_ANY) ;
conn_addr.sin_port = htons(SERV_PORT);

/* Note: bind is only for UDP server. It will hang on UDP
client */
i f (bind(socket _fd, (struct sockaddr *)&conn_addr,
si zeof (struct sockaddr _in)) < 0) exit(l);

recvfronm(socket fd,...);
process(..);

sendt o(socket _fd, .);

cl ose(socket fd);



